50.

51.

52.

53.

54. -
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®E a b ¢ 4
R TR SN AR
B R &3
G B R e,
P: ¥ 4 1t 2
at R FEe e T ?

A. SR e B, W TR C. TEWm AR D. ' o TR

"Pick out the most effective word from the given words to fill in the blank to make the

sentence meaningfully complete.
...... of old paintings is a job for experts. _
A. Resurrection B. Retrieval ‘C. Restoration D. Resumption

Pick out the most effective word from the given words to fillin the blank to make the
sentence meaningfully complete.

During Diwali the shops are ...... of people.

A. busy - B. full C. crowded D. bubbling

In the following questions four alternatives are gi\;en for the phrase italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of phrase.

This matter has been hanging fire for the last many months and must therefore be decided one way
or the other.

A. going on slowly B. hotly debated C. stuckup . D. ignored-
CUP:LIP:: BIRD : ? '

A. BUSH . B. GRASS C. FOREST D. BEAK .

Below in each of the questions are given two statements I and II, These statements may be
either independent causes or may be effects of independent causes or a common cause. One
of these statements may be the effect of the other statements. Read both the statements and
decide which of the followmg answer choice correctly depicts the relationship between these
two statements. .

Mark answer )

(A) If statement 1 is the cause and statement II is its effect.

(B) If statement II is the cause and statement Tis its effect.

, (C) Ifboth the statements I and IT are independent causes. ‘
(D) If both the statements I and II are effects of independent causes.

(E) Ifboth the statements I and II are effects of some common cause.

Statements: ;

Standard of living among the middle class society is cdnstantly going up since part of few years.
Nepali Economy is dbbserving remarkable growth. :

Statement I is the cause and statement II is its effect.

Statement II is the cause and statement I is its effect.

Both the statements I and II are independent causes.: .

Both the statements I and II are effects of independent causes.

O Owp
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THE! e % SHIE TR :
Choose the word which is different from the rest.
A. Turtle B. Lamb C. Colt D. Bitch

In the following questions two statements are given. Which are followed by four conclusions
(1), (2), (3) and (4). Choose the conclusions which logically follow from the given statements

Statements: No door is dog. All the dogs are cats.
Conclusions: :

No door is cat.

No cat is door.

Some cats are dogs.

All the cats are dogs.

A. Only (2) and (4) B. Only(1)and (3)

C. Only(3)and (4) " D. Only(3)
n@htmmmv ¥ fa Wi = ®/e 2 Which of the following
diagrams indicates the best relation between

Travelers, Train and Bus ?

‘O'o GBD.

mmﬁﬁmmtﬁmmﬁamm

b i TR I

a sUEERESh O L1 fadass o
b. TR T WO e < 2. faH. 9’ ' '

c.  E(ITUTR! SEH . 3. fasd.q%90

d. wearEm AeeHs gean 4. fad.qrues

€ a b ¢ d '

A 1 2 4 4R

B. .3 .4 209

C. 4 3 oW 2

D.- 4  3€RN . 2

YRV ARHNE TEEoHT L] T G YR e &/ ?
TSI TSR G SIihHeR! TqH1 QAfeael 9 T 12
R gl - fadeft ggeressn TR Tt w1l T e
TR fafem wonfrrean smafers v

el — Toreem frsmdt Tt &1 74 wgE =

a, b¥d, c, d T B. a,b,c ®EdTeE
a, b, d §gl, ¢ T _ ' ' D. ab,cidEaTE

0P PO wp
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67.

68.

69. .

70.

71.

72.

R 2

74.
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A, gHfeE B. R C. 3Hfem D. ¥ d#few
Helr daeh! wemtse! fafes aft sua fawha 7és 2 :

A, HFE, E a9 S9EE FifHen 7t

B. Uftza gven steae

.C.  wfafafa g gagE
- D. it gy areey IWWHWWM

AT WIS FFER TRV T S § 7
A. T TR qumeh! g8 e sgHaee B. memﬁmm
C. wfaffaaums € faere sgaaere i) aﬁqmg&wﬁmw
o e v e At g S 2

-A.  SHEEfueRTe TR foeted T B. SHERIfue! T SEIfasiad 9ie Ty g1
C. = sHufas <[ s D. TWHR FaeTyasmia SoEr g

Tl fa 9% (ADB) 1 W1 oot SRR R THeR

1. ADB I T T 935 A HTH A | 2. ADB Wl % SRS T T |

3. .ADB %1 987 9K 31 & |

TR A WA e ?

A 129G B. 2I3UFEE C. 1339 & D. 1,233T4 T
1. SF=fes ga1 9 (IMF) 1 T [0 fedmR _ ¥y a1 Yt B |

2. A9 & FedmR 9159 1 IMF ! S&&Ial < T |

3. IMF Al 36 156Y T8 T Wbl & |

4. IMF % 39F SEed arage fed. rnt%aﬁm

Ty G WA T S

CA 1,2,39HEE B, 1,4,311:31:@ C. '1,2,49F¥& D. 1,2,3,4TAT

ST ARSHER S eRL0rh] SATERAT qeish! |1 wel 7lad 82

A. oY SEfagd AESI—900 fhearea=

B. Ol STefSed SR —9 - Y AMERE

C. Tvhiel STafagd SRR — % - 900 AER T

D. I SEaga ARSHI—900 — 0000 HMERTH i
?ﬁ:ﬁmmmﬁﬁmmﬁﬁmmmmwiﬂwm?

AL AU, deed, SNgd, O, e B. ~ Furett, Wrogd, Hefied, ar, amre

C. e, Fam, WSl °w, e D.  Jrel, Jorell, WGl arE, o4

In questions given below out of four alternatives, choose the one which can be substituted for
the given sentence.

The study of ancient societies.................. d E :

A.  Anthropology B. Archaeology C. History D. Ethnology




75.

76.
77.

78.

79.

‘80.

Synonyms of the word BRIEF iS.....c.ccccceeuunnnn. 3

A. Limited B. Small _C. Little
Choose the right alternative for the underline

prices are going up by leaps and bounds

A. irregularly B. rapidly C. grndually
TRaTEE o8 U] AT SYgh fashede! S e -
BEGK : ADFJ :: PSVY-: ? S
A. ROUX B. ORUX C. LQUT
TS (arg U] WA SUYRH fashedsh! SHIe e «

Which number will replace the question mark ?

/l\/l\ﬂ\

u$ﬁﬁﬁﬁ¢aw@ﬁvmmnamﬁnﬁmaﬁﬁstaﬁﬂq

Which one will replace the question mark ?

s

s| 99| Qa

A. Lm B. Kis ‘ Sl
TRAET T O T I e S THE -
Which one will replace the question mark ?

18 24 32

12 14 16

72 | 112 | 128

240
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T SR TS, O ol It HIE SISs | 3T Toae! SR a7 Jege! Sl [egerd |
In the following figure small square represents the persons who know English, triangle to those who
know Nepali, big square to those who know Telugu and circle to those who know Hindi.

81.
82.

83.

85.

86.

- 12 L english
Marathi 4 s

« Lowa | oo

—> Telugu
Hfer vt Tt T St T W S T ?
‘How many persons can speak English and Hindi both the languages only ?
A5 B. 8 ' Clods -~ D. .18
T TR AUS T AR T ST e TS ?
How many persons can speak Marathi and Telugu both ? -
A. 10 ~ B. 11 C. N D. None of these
i TR SIS W A Sewt W ? ' '
How many persons can speak only English ? . ‘
A9 B. 12 C. 7 D. 19

i e T, Tt T Sty v et e 2
How many persons can speak English, Hindi and Telugu ?

A -8 B. -2 . C...q D. None of these
e SR T T e W 2 '
. How many persons can speak all the languages ? -
A 1 B. 8 C. 2 D. None
e 1 TOE 11 &= Sirer fesgerg - ' :
el TRl
a. Bird Fleau ' 1. Vibrio cholera
b. Swine Fleau . 2. HsNj Virus
|e. Cholera . |3, Bordertella Pertusis
d. Whooping cough 4. H;N; Virus
®}E a b ¢ d
A-cd. 2703 4
B. 4 2 1 3
C: 2 4 - 3
s M DY R (O




- 87.

88.

89.

90.

91."

92.

93.

9.

ON:

96.
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Tt wameeTsl WEY Mo ST :

1. Yiifee! SfEhR Seiesvet weilies T &1

2. USRS Sfafh o e S gE aes g

3 mﬁmwagﬂﬁmfm)

4. e =1 fe.fu.fe. | var s

A 1,2, 1364 Ted £ B.. 2,314 9g e
C. 1,29 3347w D. : 133 &8l 2 W e
mw}@mma?

A. T ufEty &5 www “Fﬂé World Wide Web 5= giFD |
B. U WE9LH FEH ST Computer IBM 1401 i

C. =g 99 fage s gataa 51

D. Sfcas Feiem sAfasoig s ufi 9fes |

‘ ATt SRS SRR e TR i e g e PR S 2
AL 3! T, @Sl T S SEE T
‘B. - =uiftga sprae uftga weme) sifigfis 7 ) _A

C. #fysrga
D. wfoeR g7 9 gga
AT SRR TEETERT 8 B ? .
A I ATEE TS B. W% Hoe
C. e EEHET : D. =9t forat sHaiam
Wuwmm@@ama? . ,
A, A V2 ¥ A wfeam B. . YoM — T Al st
C. wiww — Fifeqs afvelt i@ D. ieis — B2 Yo oF et

W TgHEE! ahare ik e wfevs e @ wiEs 2

A. Red Helmates B. Blue Helmats C. White Helinets  D. Grcy Helmets -
o pemrm, M:mqa ...... B e ) fo dem s i W
Al RS B. '¥9%% : C. '¥9%% D. RS%e

TG FEAAE! W T Corruption Perception Index, HFHR fafir aﬁazaru AT T

e fsw ® 1 57 e 9, e TR

A T R09¥-930 _ B. w030 o

C. FAR095-9n 3 “ D. ' 309993 30

el e veF e el Sendt aeens FA-gT g 2

F.  duwmfaw . FEEmwE T #iar

A F1wm B. @IT C. I _ D. Wi Es

FEH THRGR T TREH ZRAHE 7 TG STE-3095 T2 1A g SAH A g 2
A. T FEE B. ¥gwisEwen C. gFarsgEr D. fesrafae gm
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97.  THIEN 0 YR 09§ 3G TR Whewiior SATTIRh! Fredsh] SINUN Higer WA ?
A. R I6E, 096 B. 9% @K, 095 C. 1¥JEE, 09& D, 90 JOK, 045

98.  In the following questions choose the word which is the exact OPPOSITE of the glven words. -

ENORMOUS : : 2
A. Soft : B. Average G Tiny ’ D. Weak
99. She...... Rs 80 out of the bank every Friday. e ,
- A. obtains B. draws C. pulls D. extracts
100, T 3T AREA FET TAEA S ? -
A dafemfae B. yeeRfE=w
C. ooy gl o D. Seited safaw fmo
Q.No | Answer |Explanation
B : ;
2 A Let Dipson's present age bex years Then, father's present age —(x + 3x) years =
: 4x years. ;
5 .
- (4x+8 =5 (x+8)
= 8x+16=5x+40
1=>3x=24
T e )
4
Hence, required ratio = ﬂ(xx-'__;lls) a =2
3 D : A
B d T - 1200x8 W
‘Perimeter = Distance covered in 8 min.. = '—E.Tx“ = '1600 m .
Let Ie;igth =3x metres and breadth = 2x metres.
. Then, 2(3x + 2x) = 1600 or x = 160.
-. Length = 480'm and Breadth=320m.
~. Area = (480 x 320) m’ = 153600 m’.
5 A 6.A | . e
, 82—532 101 250
A Required run rate = X =% 6.25
X N oc |w0B [11B lec [13A [1-4.D j15B-
16 C On 31" December, 2005 it was Saturday. : :
, Number of odd days from the year 2006 to the year 2009 = Q+1+2+1)= 5 days.
- On 31¥ December 2009, it was Thursday. .
Thus, on 1% Jan, 2010 it is Friday. :
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Let the required number of working hours per day be x.

17
: More pumps, Less working hours per day (Indirect Proportion)
Less days, More worl_c_i'ng hours per day (Indirect Proportion) : ‘
282 - (32 x 10) 250 _ i
MW Al o ' . , »
Pumps - 433, .¢:
Days ~ 1:2 2
L4x1xx= 3x2x8 ‘
3x2x8
X= 2
X=12
18 1983 [20A [21B [2B [23cC _
24 75+65 140 7 *
Reqmrvd ratio =gz ~ oz 85495~ 180 D - 4t : :
; 0+ 80
¥ Required percentage = m x 100
s i
=205 % 100
=73.13% :
26 Average sales (in thousand number) of branches B1, B3 and B6in 2000
' =3 (80+95+70)
_25
o 73
Average sales (in thousand number) of branches B1, B2 and B3 in 2001
y 1
=3 X (105 +65 + 110)
_ 280
-3
24513
. Required percentage = 28073 % 100 = 87.5%
S primseis
27 Average sales of afithe Six branches fin thousand numbers) for the year 2000
—x [80+75+95+ 85+75+70] =
28 Total sales of branches B1, B3 and B5 for both the years (in thousand numbers)
= (80 + 105) + (95 + 110) + (75 +95) =560.
29 30D [31D [32A [33A [344 [35C [36C [37.C [38A |39A
40. 41.D , - »
42 Above the line, the relationship shows a progression of sources of light. The

| relationship below the line shows a progression of types of housing, from smallest

to largest. (Choice a) is incorrect because a tent is smaller than a house. Choices b

ANIT 5 Arn GrrRnnns Rannitas Sl iuurT o Rty 2o 52N gl gt T g
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43 E Ciearly, prevention from mosquitoes and elimination of mosquftoes are two ways
to prevent malaria. So, both the courses follow.
44 A Gemo means fair; linea means warning; geri means report;mitumeans card; and
‘ gilameans weather. Thus, gemogila is the correct choice.
45 B Since both the premises are universal and affirmative, the conélusion must be
universal affirmative and should not contain the middle term. So, it follows that 'All
. | branches are leaves'. Thus, I follows. IV is the converse of this conclusion and so it
. also holds. A
46 . |A This is an altématino subtraction series with the interpolation of a random number,
5, as every third number In the subtraction series, 3 is subtracted, then 4, then 3,
and so on
47 D According to the statement, 80% of the total runs were made by spinners. So, I does
not follow. Nothing about the opening batsmen is mentioned in the statement.-So, II
. | also does not follow
48 D Parsley, basil, and dill are types of herbs Mayonnaise is not an herb.
9 |c 50B |51A [52A [53D [s4A [55B [sec [57B  [ssa
59 D: . | Cup is used to drink something with the help of lips. Similarly birds collects grass
| with the help of beak to make her nest.
60 A {Since the standard-of living among the middle class society is constantly going up
so Indian Economy is observing remarkable growth.
61 D All except Bitch are young ones of animals, while bitch is a female dog.
62 D : Cats Cats
———> Door ; Door
: Only {3) follows: - .
63 C Bus and Train are different from each other but some travelers travel by bus and
' some travel by train . :
64 |A 65D |66.A [67D |68A [69.c [70B [71.c ]72B [73A [74D
75. D 76.A : T
7T 1B As Similarly
' R c<—>f1 o
e=lap” s—tar
G—2pF YRE.; MO
K -_l') Yy “_1; X
78 B Solution :
Fromfig.a:6 +4 +8 =18
18+2=20
Fromfig. b: 7+9+8=24
24 +2=26
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Fromfig.c:6+5+12=23

23+2=25
Hence the number 25 will replace the question mark.

79 D AZ ___tz__’ C4 +2 EG
Ms 22, 09 2,09,
Gy 324 15 _+2, Kg
| How the number is obtained?

2+4=6

5+9=14

Similarly,

3+5=8

Therefore, the answer is Kg.
80 B 18 x 12

i k.

and §ZTXI—6' =128

4x 14

Therefore, 2anls : =112

336 '

ook 112

?7=(336/112)

_ ?=3.

81 A Number of persons who can speak English and Hindi both only is 5.
82 |C. 6+7=13. ;
83 B Number of persons were can speak English is 12.
84 B Number of persons who can speak English, Hindi and Telugu is 2.
85 D There is no such person who can speak all the languages.
86 C
87 |A 88. |D 89. |C 9. |D |91. |B 92. (B
93. |C 94. |A 95. |D 96: |€  f97.:|A 9. |c
9 |B 100. A




247

mm‘(wm@»

0
o

ﬁ%@ﬂﬁm@wﬁmuﬁmmtmﬁaﬁw

I SHETR! TSRS

. et T el

. et el A

. gk s M
ammmmmmwwmwwmmm
mmmmmmzmmmmmwﬁmml

3 g 3= verel s S <H T TR 950 5 o THa @R Ben 9 9, j9%0 fHet! I=n
yuH favas SUES! gMad g YRl gHERST Afafes 9500 fae W wify ardmE, fass,

- Toereie T o wiear aHa Srell el um Eadr 1S |

et Jret Seten @1 = 4R T S hesa T e, fﬂa@wﬁﬁaﬁs%ﬁﬁinﬁﬁmﬁtgm

IHFH! T BIR e, 5 R0 T4 SA1SH] o1 9 FH &9, o= sftes! fam s fagar v@ s |

‘ HHIH ASTaES : Sferent T, S, @mﬁmxaﬁmww

Aurer ufiiaes o Wl TR 318 ¢ AR, Yo
FifT SR AT BRI T - amaaﬁm mmmmaﬁaxaaﬁ&ma
w@tﬁa’razaawsmm :

CIE]‘D-EJDDDDD.

Sraretat Wied) 3809t (Poultry in Nepal)
SYH FRER : 33 H7F O FUs
snim TR STl Y% I%%ﬁ(m 5% IREH

QI ¢ eI £4 W1 T Fofeei SIS el Tie YR

AYTAHT UL I : 3Y o T (3FE)
e ST HET ISR SHRIE : § 9@ Y &R

70 T ST T T : 20,000 T T
- e S TR < 96 37 W (T G R ST 3 3T T A T Y 3T WD)

Tt TR TS « SR (ATGH A), S (STUSE M)




s 7 o e S, A T e, G 0

248

'ﬁf qQg @Y 3SARID] il Answer Key _
L |@B®O® |2 |[@®O®]| 5L |@®OD| 7 |®®O®

2 |®®O0CD®|27. | @®OD| 52 | A®OD|77. @®O®

3. |®@®O00 |28 [(B®OO| 3. |®@®OD|B. |@®OO

. |O®O® |2 |(A®OD®| 54 |@®OD® |7 | ®®OO

5. |@®O® |30. @®OD| 55 |@®OD! 8. |[A®O®

6. A®OD® |31 |®O®OD®| 56 | O®OO|8 | A®OO®

7. |[B®O® |32 |[®®OD®| 5 |@®OD |82 |®®O0

8. |[A®OD |3 (A®OD| 8 |@®OCD|8 | ®®OD®

9. |A®OD |34 |®®OD®| 5 |®®OD| 84 | ®B®OO

10. | @®OD |35 |A@®OD| 6. | A®OD| 85 |[AB®OO®

i |[A®O0OO® |36 | O®OD| 6. | ®®OD |8 | ®®OD®

2. ®@®OD® |37. | ®®OD| 2. | ®®OD®|8%. | ®®O®

3. 1 ®A®OD |38 O®OD| 6. | ®E®OD |8 | ®®OO®

114 (O®OD |39. |O®OD| 4. AB®OD| 8. | AB®OD

15. |E®OD | 40. | ®®OD®| 65. | ®®OD| % [A®OO®

16.  ®®OD |41 [A®OD| 66. BEOD| 9. | AB®OD®

17. |®®O® | 42. | ®O®OD® | ¢. ®®OD®| %2 | ®®OD

3. @O0 |4 (OO0 ¢ |®e0D| % |e®0®
9. |B®OCO | 4. (A®OD| 6. |A®OD| % | A®OO®

2. (AEOD® |45 |OOOD| 0. |@®OD®| %5 | ®®O®

2. |[BBHOD (46 |O®OO| 7. [AB®OD|% [A®OD®

2. |[®®O00 [47. |A®OD®| 2. ®®OD| 9. |A@®O®

23. | OB®OD |48 |BBOD |73 | ®O®OD® |98 | O®OD®

4. | HB®OD |49 [A®O®| 4 | ®O®OD |9 | ®®OD |
125 |O®OD® | 50. [ @®OD® | 75 |®@®O©® | 100.

. [ @®0C0®
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J e weahor @ : a6 set 17

Study the following passage and answer the questions based on it (1-5)

Detective glories tend to glorify crime. Murderers, gangsters and crooks all kinds are described as tough,
cunning and courageous individuals who know how to take care of themselves and how to get what they -
want. In James McCain's The Postman Always Rings twice," for instance the villain is much more a
impressive character than his victim. He is casual brave smart and successful with women. It is true that
he finally gets caught. But he is punished for a crime that he did not commit, so that his conviction is
hardly a triumph of justice. Besides, looking back over the exciting life of the criminal, the reader nught
conclude that it was worth the risk. :

1. The passage mention James McCain
A.  as an author of detective stories
B.  asbrave, smart, and successful with women
C. .as tough cunning and courageous
-~ D. as being more impressive than others
2. Murderers, gangsters and crooks referred to in the passage glven above
A. always manage to get away
B. are often glorified in detective stories
- C. are wiser than their victims
"~ D. know how to escape from law :
3. According to this passage, a cmmnal in a detective story generally gets caught
A. for the crimes he has committed :
B. because of his careless mistakes
~€. because the police is smarter than the criminals
D:. for the crimes he has not committed
4. ©  According to the passage, the life of a criminal
A. s exciting
‘B.  is hardly worth the risk
C. is'seldom presented in the right perspective
D. ends in a triumph of justice
5. According to be passage given above, detective stories
A.  make interesting reading
B.  are hardly worth reading
C.  encourage readers to content crimes

D. tend to create wrong notion about crimes and punishment

5. UNOWWWWW@WWMM?
A. FomEa B. ¥ e - ‘ D. W
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7. WEITEE 11 fre v e veeTe S SR S TR
' wEL

e (3
a. Trafrende
b. =31 Aeun feqaa
¢ Wdd '
d. HEgUS A ,
A. a7b3c4d1 B. 83b7C3d4

&) A AfTeTe! H@iayE, 094
S A7) AT S dfaum, 053

bl S g

G
8. Ul SFA AT S W uiee dRem g R ?
®) O Aftege! Hiaum, 0%

v ¥) . \ureeh! diaHH

9. uH R TH AR FEHN F e ieen 1 ke Saea St e siel e wd 3w

e -
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el
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faR
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1.
2
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4.
JC.

wferagl
faaaa

ECREns

e
E
g awNe
7M. g™
Y. TRl
A F-3,T-¥, T}, 99
C. $-3%@-,7-Y%,99
10. TEITEEE 11 9= Sl el Hresie Sugw ST e ie e |
a. ST I &
b.  WIG TG
c. foms=s :
d. wfa e &%
A. ‘asbse;ds B. a4b3c1d7

azbysCy d; - D as bd. Ca d;

T Rezwet g fom Wi R e et S SERTE! S, e T At TEe
318 m | The following pie chart give the information about the distribution of weight in the
human body according to different kinds of components. Study the pie charts and answer the

! .
question.

Distribution of Weight in Human Bo&y

Hones,
175 Muscles,
< 3710

Harmones
, Enzyrmes
and other
protems,
2/5

11, YRR WO S B! wid afowe &t 2

OtherDry

Elements
11°%%

Protemns
24%

What percentage of proteins of the human body is eqmvalent to the welght of its skin ?
C..

A. 41.66 % B. 4333 %

4444%  D. Cannot be determined



12.

13.
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B T TS TR HIFTh! IR Hi T 59 2
How much of the human body is neither made of bones or skm 2 :

A 40% B. 50% C.'60%.: . .. D. 70%
BT WD THGH T ST SRS 2.

What is the ratio of the distribution of proteins in the muscles to that of the dlstnbutlon of
protems in the bones ?

A 2:1 B: 23 : " C. 3:2‘ D. Cannot be determined

Tt ot sterem T Rt gee (¥-95) 9 SRR -

Study the following figure and answer the questions given below.

14.

15.
16.

17.

18.

19.

[_1—> Trained nurses

O —>Married population
A - Nurses in hospltal

mmmmmmmmwmmmﬁmmmw
ST 18 O U8 2

If hospital management requires only married tramed nurses for operation theater, which
part of diagram should be chosen by him ? _ . :

A 7 B4 : _'c'.'s. : D 76

By which number, married but untramed nurses in the hospltal are represented"

A 4 “B.. 6 C: 5T ‘ ; D. 5
Hia v mmmmﬁmm ? g, '

By which numbers trained nurses are represented ? :
A. 3,6 B, 73 " €.l 5,60 D. 15
T Fer T © & B S 2 :
What is represented by the number 7 ? _ b i _

A. Married nurses in the hospital : B. Traiﬁéd nurses :

C. Unmarried trained nurses D. Married trained nurses

I A T A e Ay et 3o SRaeT 7 T 2

By which number, the trained unmarried nurses in the hospital are repres_ehted ?

A 6 B.:. 5 ‘ PG D. 4
T g U WA 67 TR 5 2 = :
ACEG : IKMO :: QSUW : ? ) ; :
A YZCE B. YACD C. YACE = D. YBCE
MWM@WWWﬁWB7 _ : :
A ek fed, A9, TRy g B, wﬁmﬁéwmm.

C. wfewd fad, dmml, gmg, et _D. HTeh, e fad, gurg, At



21.

22.

23.

25.

26

27.
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TR 1 1T 1. T e T e ST SR o TR

TR . : g 11 dRfs M

a.  HEl 1 URa

b. it . 2. AR

¢ TR 2 3. TERT

d. wulet 4. HEQ

A) a;bscd, B) a3bycids C) azbycsdy " D) abycid;
g 1 TEE 11 for sher firemé $ieee 399w sW e W | -

w1 | wE OEN

a. I AEE 1. Long walk to freedom

b. TAREM 2. Dreams of any father

c. oEA HUSHl : - 3. DasCapital

d. SRS A . : 4. My land and my people

A) azbsc;dy B) asbscid; C) abscad; - D) asbjcads
Filreht Wi Jorer! aHaTe TR T S W Y ? .

A) TS fam B) =% AW C) WUTFTHA D) HIHE SRl
TUCN & foreaen wred wegol seafeend it wim R e s 2 :

A) R B) 1 oo D) X
wE 1 THE 11 forer Sy firetté e SUg ST S THA |

TEl . | T 11 e TS0

a. Tigrereen : 1. TR

b. snfEen 2. fafw

c. Touassh 3. YREH

d. dmEsh 4. fue .
A) a3bscad; B) abscid; C) aybycsd; D) a3bscid;
TR TEgE 11 e sy firemé reae Sug W S THRR | '

a. gfos SFe! s 1. . e

b. Y e T ‘ 2. e wfd

c. U EEEe fasE 3. FATA

d. T e GEw . 4. < s ,
~A) ajbscrds B) azbscid; C) ajbyesds D) a;bscad;

From the given alternatives, choose the one which best expresses the given Vsen'tence in Direct

speech.

Dhruv said that he was sick and tired of working for that company.
A. Dhruv said, "I am sick and tired of working for this company.”

B. Dhruv said, "He was tired of that company."

C. Dhruv said to me, "I am sick and tired of working for this company."
D. Dhruv said, "I will be tired of working for that company.”



 28.

29.

30,

31.

32.

33.

35.
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Pick out the best one whlch can complete incomplete stem correctly and ﬁwamngful]y

He has no money now ...... : 7

A. although he was very poor once B. ashe has given up all his wealth

C. because he was very rich once D. because he has received huge donation

In questlon below a sentence broken into five parts. Join these parts to make a meamngful
sentence. The correct order of parts is the answer.
1. seen 2. going 3. you 4. him 5. Have -

A. 35214 B. 35142 ' C. 32514 D. 35124

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

The paths of glory lead ...... to the grave.

A. straight B.- but C. in D. directly

Pick out the most effective word from the given words to fill in the blank to make the

_ sentence meaningfully complete.

The telephone ...... several times before I answered it.
A. wasringing - B. hasrung C. hadrung D. would ring

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

He passed the examination in the first class because he .....
A. was hard working forit ° B. worked hardly for it
C. had worked hard for it ' D. was working hard for it
WE 1 TR 11 T siren Pivemé e 99w s S e TR :
wE1 ¥ 9 I
Ca. OEIER 1. HRRFT
b.  WEHR 2. A=freA
c. TEAM 3. WA BRS
d. Y& 4. Tafafed feet
A) asbsczd; B) a;bycsds C) azbycqd, D) a;bc3ds

Long Walk to Freedom %1 9&% $1 % ? A
A) ARG ARE  B) \oud HUSA C) FETEFHA D) =evta= vt
w1 3T nﬁamﬁmmmmﬂaml - P

w1 I
a. FR= TSR ‘ . sk f&f.

b. WM (FTFR-SITR) 2. 9oRe fafa.

c. forygaa gomri 3. mafefa

d. e Temet ; 4. s feN
A) asbsc;ds B) a;byc;ds C) abscids D) arbscsd,
ATt A T HE TR R TR W TS Gl G S e S 2

A, TUE THH 2 - T B. W¥H ST AR ¥ — A
C. 9w 3fequr sfiat 39 > fster D. 99 e 27 — Sl




37.

38.

-39.

40.

41.

42.

AU T AG R TR Tt TS ST T :
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1. TS T AR Fore 9859 e § 1 St T T S A |

2. THIC SFET T SR AR T 43R HT YTIAH! TSThTT $H0] R Forw |

3. I TS HEHEIE 9% HT SRR TSTHT ST et fordh |

T Y F N B/ B ? ,

A 1,23T9FE B, 1129 W& C. 1I3AET@  D. 2130
Choose the word which is different from the rest. A ; v

A. Mother B. Friend . C. Sister ; D. Father
Statements: All the phones are scales. All the scales are calculators.
Conclusions: . ;

1. All the calculators are scales.
2.  All the phones are calculators
3. All the scales are phones.

4.  Some calculators are phones.

A. Only (1) and (4) B. Only(3)and(4) " C. Only(2)and 4) D. “_Only (1) and (2)
T, SARA TARA Foraen wreraeE 5 O e wess 2

Which of the following diagrams mdlcates the best relation between Factory, Product and
Machinery ?

© 3 80 6

_ﬁaxmmﬁmmﬁﬁﬁammﬁa?

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X. -

&g 0O

@

(X) 1) - {(2) w A (4)
Al . ¥ Ao D. 4
mmmwwﬁmm ‘

9. E=mc? mmmm@;

3 ﬁﬁm%a@mﬁaﬁa@mwmﬁwﬁa@ﬁﬁmﬁw
TS RS SR S e g

2 mwﬁémﬁeﬁwmm%osummmwmwfmx

A. 3,37 3TI3H . ; ~ B. 9,3, 3%
C. 9,313 3B ' D. 9,3% T3 QE®
~ S % A




43.

45.

46 -

47.

48.

49,
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TR IITE 1 o < et Fiear sugw Swsie e

2 WAV 1. UEER

b. e 2. sigwafst ‘

c. ﬁr@'{ﬂ?ﬁ 3. uyufamy Af<x

d. wmirer et 4, HERET B

A)  abcyds B) abycsds - C) ajbserds D) asbjcids
et SR - ,

‘a. ¥R T HUS 1. TS TR T WS

b. I 2. STERIGERI g AT

c. eHTd 3. farymsr :

d. YvSREe gd S 4.  SITERIGTHI I
" A) abieids  B) asbicids . C) . agbecyds D) a;bscads
TR Ilﬁamﬁaﬁmmmﬂzﬂmu ’

i S REEEIRISIEG TR I

a. HIfeTISH! LYY MW

b, HEAEst ‘ , 2. K®’MW

c. WY HHATER! 3. ©OMW -

d. fe=it@en . 4. OMW

A) aj;bycsdy B) a,b;czdy - C) a;biycsds - D) asgbscid,
TR IR 1 fa= e firemd Sreee 39gw st e RN | ' -
Tl 5 TE I

a domE : 1. 1934 May 17

b. R ‘ 2. 1947 April 25

c. ¥4 . 3. 1947 June 13

d == : 4. 1955 Aug 1

A) aybjcid, B) a>bjcid; - C) a;byciyd, D) asbjcsd,
arett wfeer Bl st woeE S '

A, STHS HH, TEAT UedTd, daiEE 99
B. wraery dreumd, miye fufi, waues 39w
C. RUleR I3, AT IS, SR §H

D. SerHwI §E, Trae dreard, we fafi

T Shif~eh! FROE WG 2 : , B
A. SR ¥TEHeh! feegem B. Y& ud amifses fauqar
C:¥ T9R0% F AT : D. wifus &y

Pick out the most effective word from the given words to fill m the blank to make the
sentence meaningfully complete.

Jawaharlal spent his childhood ...... Anand Bhawan. _
A. at B. in ' C. .on ' D.  across
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. 50. In the following questions four alternatlves are given for the phrase italicised and underlmed
TaE in the sentence. Choose the alternative which best expresses the meaning of phrase.
In the armed forces, it is considered a great privilege to die in harness.
A. die on a horse back B. ' ' die in the battlefield
C. die while still working D. die with honour
51.  Synonyms of the word EMBEZZLE iS....ccceveeeeseeees
A. Misappropriate  B. ‘Balance C. Remunerate D. Clear
52.  In the following questions choose the word which is-the exact OPPOSITE of the given word-.
EXODUS
A. Influx B. Home-coming C. Return D. Restoration
53. WEITENE N T e fremsgew : . ,
a. e - . 1. TSR
b. TIESIE 2. VRIS AE
c. A ATH 3. a9 Hed
d. i = e 4, Toea gfen
¥ a b ¢ d
A2 4 304
B. 3 4 2 1
C. 4 3 2 1
D. 4 3 1 2
54. mmmmmm
a. el AU TG 1. 005 9MEU R
b. TSI FHEH 2. 008 =G0
c. SIEE WENHH aﬁzmganﬁ@ﬁ 3. 019 TR R
d. AU T RafaS Sl TR 4. 005 HE Y p
A. a2,b4,c1,d3 B. a-2,b-i,c4,d-3
C. a-3,b-2,c4,d-1 D. a-2,b-3,c4 d-1
55. mnmnﬁamm '
WI e -
S wET : 1. ewfdE g
b. femfed wen 2.  wefRREE AeE
c. e TS 3.  fafdewes
d. fAfde 4. oI
e a b ¢ ¢
Al 4 3 I
B. 4 3 20
C 4 2 3 1
D. 4 e 1...73
e e = s
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57.

8.

59.

60.
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TR I 11 e o P Sreae S9SN e )

. a  WRITE 1. T

b, URTN 2. fog
c. HRAN 3. 9%
d. AT 4 4. HR ; _
A) a;bjcids B) aybscids C) asbycyds D) ab,cyd;
If 35 + 125 = 17.88, then what will be the value of 80 + 65 ?
A. 1341 B. 2046 C. 2166 D 2235
e o Tame o X vHRwrs ? :

Find out the alternative figure which contains figure (X) as its part.

X) - (D @ & @

A 1 B. 2 L L ‘ D. 4

ot 5 G oS ST, Y T T e T T S

Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in

figure (X). 4 :

0| oG
(x) (1) (2 3) )
7 | B. 2 : C 3 :D; 4
g frmeam s TR e e dNmm Wi

Select a suitable figure from the four alternatives that would complete the figure matrix.

@ | oo {omm|

i Ml‘7

(1mm  (3)0nmmm

()N (+) DN
A. ) . B2 C. 3 D. 4



61.

62.

63.

65.

66.

67.

68.
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mmmmg@ma}wm
A. FHaIKH fgfrm dedams W fam, B, oIl S sremen e

C. wHerien afee s 7 D. it g

AR F SIS 9 TGB! TN TARRS 2 :

A. . fa9. 000 - fa.9. 050 g © B. 93 3099-3059 ¥
C. fa9.30%-fag. 0c05w D. fas. 090-3059 T
T AT ! e TR

a:  AUTeTsh! SfaYF, 09R P AR AR & S T ey

b. e WY, 09% i e TRl o for |

c. AuTerH! WA, 09 A TH TS TR syeeen o |

d. el HiaymE, 09 7 T fafen 9= v S deEer afaus B )

TR A TE RS/ S

A. 2,bIcHEATE B. abIdAFNET C. acId9HTE@ D. ab,cIdTH T

a WY 1. T T

b. oW Yo 2. TS Aifaes :

c. WY 3. AR T T

d. "R 4 T T e

W a b ¢ d

A~ 85 M

Bo- 3 4. 8]

G 4. 37 3

D, 4 . 3...71%: M

AT HrE A A H-HR AE AT S ? A
A e HEEE 9 g A WO B. i Yareid o SHUI WU
C. &7 FETS ARG AITH 3 D. #fywrEs
TTHEEATR! TR AR ToER e

1. Wmﬁmm@mmmﬁméa
2. mm@wﬁﬁxmmﬁaﬁﬁmtmmﬁma|
3. R0%G Tl SFIOFE] THR] SHIOFT 81 |

Y Seifad F WK W A/ 12 - ,

A. 1339F B. 1329 C. 23390 D. 1,233@43=®
The absence of law and order _ ' i

A. Rebellion  B. Anarchy .  C. Mautiny D. Revolt

Parts of a country behind the coast or a river's banks
A. Isthmus . B. Archipelago C.  Hinterland D. Swamps



69.

. 70,

71.

72.

73.

p'dﬁ?ﬂ, B oo
[V
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In the following questions choose the word which is the exact OPPOSITE of the given words.
AUTONOMY
A. Slavery B. Subordination - . C. Dependence D. Submissiveness
=1 v S forem TR | '
1. OICTH1 T R vfee 3o Ao ¥ fafre @ _
2. A e fafaesh wome fad. 3093 S oY T symE A

SRR T T mmma@mwmwma |

mvmmww7

A 132 B.  1:273 €. 13 - D. 233
e Tieent ATl 2 A ST St Tt S R -

a. hIBHS T ARl 1. 3 foemE qon Sedia v
b. femrfaeddemm 2. ifoes qEiuR q91 A weeE

c. TRIR-HEY R HE A 3. S Q1 SR e

d. wehasfasmeamssm = 4 T, v aen AR SSeT v
®E a b ¢ d

ALY R Ry

B3 2 g

g SR S TR SR

P2 78 4.

1. WW%WWWWMECAFE'@I
2. E79RR3 YRR 3G A AYRA SAFTA i FgHET W |
© | R00¥ T ARt BIMSTEC %1 §3&3d1 9Id TR 21 |
4. W yorei e MuluﬁbcrAgreementﬁ?aaa?(WB)WTWFHH‘&F&?II

Y SR R A T B/ 5 2
A. 1,233 B. 1,2,3349a 3%
C. 2,343 D. 1,243 -
mﬁmzmmmmﬁm
Rl Rl (B 1
TS T 1w
e 2. gEEed
Siet ferdt 3. Tofafad mfafa
e 4. TAFIUH TR I

-‘wwe

W o= =W
N N A S e
-b-&-NNvIQ.
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75.

76.

717.

78.

79.
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e X foe § g7 g e s ?
Identify the figure that completes the pattern.

y A
N
4) £
* INm N %
X ) ) 3) )
A 1 B. 2 . St D. 4

o Regue! frrmey saren 39 fae s T
Choose the set of figures which follows the given rule.
Torm e SR OIS TTTH] TR T HITTEE Sas T,

Rule: As the circle decreases in size, its sectors increase in number.

@ || D | e
»[Dl@]@]e
> |D|D|®| @
m'@@@ @

A 1 j B. 2 C.:3 D. 4

A TR A F & R T 9, B A S % & R W 999 1 A TB @ T 300 W T IH
= fore fg, af ¢ = wednm s =M 3 R afE sy ¢ o i i fadue 2 ,
A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it

for Rs. 3200. With the help of C, they completed the work in 3 days. How much is to be paid
to C? : : '

A. Rs.375 B. Rs.400  C. Rs.600 D. Rs.800

If a = 0.1039, then the value of 4a° - 4a + 1 + 3a is: '

A. 0.1039 B. 02078 C. 11039 D. 2.1039

v SHefiT AR gEa Hew W B 2 '

A fad.30k - B. fa¥. 0% C. fad.jo3y | D. fad. 0%

6 Resue ST SRSAREAE AR S AR TR g e fer W@ fawe
SR : . ~ | '
%, i wEEd- A @ -

. Eifeee SeERl . =AfeE

A F-9-T-T B. @ 9-&H-T

C. %@ T-F D. @ U-T-F
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81.

82.

83.

85.

86.
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TR <=t R G A B 2 : : ,

A. & B. U 4O C. ¥FF  D. wafwd

TG T fai=m, R0ey w1 Frafem geret TR SURAT TSl Soeesl WIS TRt R SEm!

ST T HEY A e B 2

A dwIEE AT (TERY) - 9 B. el i - 43 _

C.  Hefla GASEE! BRE-3 D.  Uftga swar 9, A9 - R

Once he has signed the agreement, he won't be able to ...

A. backup B. backin C. Dbackat D. backout

It was difficult to remove my feet as it had got stuck ...... in the mud.

A. fairly B. greatly C.  widely D. firmly

He is a very careful person, he never takes side but remains ...... 1

A. impartial B. unbiased C.. neutral D. prejudiced

TR 1 TwE 1 fa= Sier fesgeig T Hieere 9 SW o TR 2. :

a. TFEl 1. YW

b. fa=mms - . 2. waTERgEt

c. RfET 3. WARE

d. fawmwmm 4. wnfEaTm

#}Ea b ¢ d

A. 2.1 "3 4

B. 2 1 4 3

C. 3 1 2 4

D3 1. 42

T AR TR SR vy Feae SRR ....... TEEH........ TR S TR
- .

A. 90,19 B. AA%R C. 9o, "R D. 99, 9%

oo TR : 5§

F.  WRAH FUFAHST T HRe) 6-3R 41, Qowxmm mniamﬁmu
. I YO ReESie geA fatfa saafs dE vew due s g
T YEYHHA] IS HBAS! T WG TG qHaIE AT A= TRE o

A wIE@IH B. ®WIMIH C. ®HIUdw D. @ds

Choose the correct water image of the given figure (X) from amongst the four alternatives.

(x) (1) (2) 3) (4)



89.

90.

91.

92.

- 93,

94.

9s.
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T A UB 39 TReTRRRT 9 | 3 o faenfiies A 3 B w1 wrwls 33 Fem s vwen
TER g | A% 0 wfenfies BaRA o WE@WAWWWWBE‘IWW@WI
et wem A T hfa fornfdee o 2

There are two examinations rooms A and B. If 10 students are sent from A to B, then the
number of students in each room is the same. If 20 candidates are sent from B to A, then the

number of students in A is double the number of students in B. The number of students in

room A is: :
A. 20 B. 80 C. 100 D. 200

Y ST T 93300 T A AR Mo MR A TB O S ¥ Wi < 99 St

T I T | A S R T ST SIS 3405 WK TR A AT B 1 i WhH T TR 19 2

Mr. Hari invested an amount of Rs. 13,900 divided in two different schemes A and B at the
simple interest rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple
interest earned in 2 years be Rs. 3508, what was the amount invested in Schéme B?

A. Rs. 6400 B. Rs. 6500 C. Rs. 7200 D. None of these

A and B take part in 100 m race. A runs at 5 kmph. A gives B a start of 8 m and still beats
him by 8 seconds. The speed of B is:

A. 5:15 kmph B. 4.14 kmph C. 4.25kmph D. 4.4kmph
.................. AT AT H FZA STASHR A | TR SEH T covoveneien WIS

A. T IRE YR, SR Ui guE Uit B, A9 YA GE, fasm ot 3w e
C. TR IRaH, Arem sg D. e T wfeor, Far ud T Ted
et TR T S SRR : ‘ '

TR : ke RG]

) e famme Y S

9
) e faamee R, WMgE
3) Hiceie faumees 3. @Ee
3 I faAmee Y. Tggd
A WRIE A, B IR, R,
C. 3R, M, T, D. 3,3, R, N
TCTShT e B SS! Teid o ?

S & ... AU T Fal

Ja A ... YA IRERHA T NS ST g1 fafges

i
'g
§

Out of 7 consonants and 4 vowels, how many words of 3 consonants and 2 vewels can be
formed?

A. - 210 B. 1050 C.. 25200 D. 21400
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96. m@ﬁm@tﬁs@%ﬁgﬂﬂé?

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. '

Problem Fzgures Answer Figures: -
f r ', c*n Y+A

4 TR 1 (A 1 C

(A) (B) @ @ @ @ (5)

A1 B2 : C. 3 D. 4

97. TR B fawede faguant Sroftens g0 TS ?

Seleét a figure from amongst the Answer Flgures whlch will continue the same series as
established by the five Problem Figures.

Problem Figures: Answer Fi tgures

TR

(A) (B) ©
A -1 B 2 c -3 _ . D.‘ 4
98. T Ferr Briern! T<E T SR ged

Find the number of triangles in the given figure. ‘ »

£

A 23 B 2] C. 29. D. 31
99, mﬁamﬁma@mtmmmﬁma?

A, FARHREELHAE oo £40 AT B. 3 HeiUSH, =N ...... 40 AER .

C. gw e, ol ! qo0 M@ D. It Sieiagd AESH], TG ... 083 AH 9
100. i & Demonitization WA ® IRFS ? -

A.  HTSH A ggH fefiied HRSR Jueiieh! Saerad T

B. WETh aHeIA WU Rfa

C. mmmﬂﬁmma@wimwmmm

D. Wmﬂ%ﬁa@mmmm

" IQ.Ne | Answer |Explanation
Key '
1 O 2B [sap  |ac [sD 6.C TA-ii 18C |9.A°
-10. A ’ " . :
11 A. Total percentage = (10/24) x 100 = 41.6666667 %
12 |D 20 + 10 = 30% is made up of either bones or skin. Hence, 70% is made up of neither.
13 D It cannot be determined since the respective distributions are not known.
1A e 120 l1ec 117 A l1e D



264

19 |C | v + & & T ~

20 |A 21.A 22.A 23.A 24.D 25.D 26.D 27.A |28B

29. |B 30.B 31.C 32.C 33.D 3B |35.A 36.C |37.A

38 B :

39 C., . ?alwlators

Scales
Phones
Only (2) and (4) follows. 5

40 |D. Product and Machinery are different from each other but both are found in Factory.

41 C: In fig. (X); one of the dots lies in the triangle alone, another dot lies in the reglon'
common to the square and the triangle only and the third dot lies in the region
common to the circle and the square only. In each of the ﬁgures (1), (2) and (4), there
is no region common to the square and the triangle only. Only fig. (3) consxsts of all
the three types of regions.

42 |A 43A  |44C 45A__ [46C |47A  |48D [49A [50A _

51. [B 52.A 53.C 54.B 55B  |56.C : |

57 D. 35+125=17.88
=>354+25x5=17.88
=35+55=17.88
= 85=17.88
=5=2235

- 80+65- 16 x5 +65
=45+ 65
=105 =(10x 2.235) =22.35.

58 |D.

59 D : : .

60 |C. In each row (as well as in each column), the number of rectangles in the second
figure is two times the number of rectangles in the first figure and the number of

. rectangles in the third figure is three times the number of rectangles in the first figure.

61 |D 62.A 63.A  |64A |65D ]661) l67B. l68.B: ]69c

70. |C . 73.C

74 |B.

B

75 D
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A C's 1 day's work % (‘é‘ l).—:-;— 21—-2-12
i 11 1
A's wages : B's wages : Cswaoes=g'§'§=4 % S
.. C's share (for 3 days) = Rs. (3 Xoa ) X 3200) Rs. 400.
77 c 40’ -4a+1+3a= (1)'+(2a)’ 2x1x2a+3a.
=(1-2a)+3a
=(1-2a)+3a
=(1+a)
=(1+0.1039)
=1.1039
78 |A.
7 Ll 80.A |81.C [82D 83D [84.A |85B |86.B |87.A
88. |B E e
89 - |C. Let the number of students in rooms A and B be x and y respectively.
Then,x-10=y+10 = x-y=20...()
andx+20=2(y-20) = x-2y=-60.... (ii)
Solving (i) and (ii) we get: x = 100, y = 80.
* The required answer A = 100. :
90 A. Let the sum invested in Scheme A be Rs. x and that in Scheme B be Rs. (13900 x).
Then, (x xll(;tox 2) Y ((13900 l)&x 11 x 2) 3508
| =>"28x - 22x = 350800 - (13900 x 22)
= 6x =45000
=2 x=7500.
- | So, sum invested in Scheme B = Rs. (13900 - 7500) = Rs. 6400.
91 B. : o :
92 |A 93.Cc  [94A |
95 C: ; v
9 |D. f“\T
In each step, the symbols move in the sequence e and the symbol that reaches
; the encircled position gets replaced by a new symbol. :
The symbols move in the sequences L2 ol and L=__"#} alternately. In each step, the
symbol that reaches the-encircled position 1 gets replaced-by a new symbol
98 @ The ﬁgure may be labelled as shown.

8 I ¢
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The simplest triarigles are AHL, LHG, GHM, HMB, GMF, BMF, BIF, CIF, FN(
CNJ, FNE, NEJ, EKJ and JKD i.e: 14 in number.

The triangles composed of two components each are AGH, BHG, HBF, BEFG, HF(
BCF, CIJF, CJE, JEF, CFE and JED i.e. 11 in number.

The triangles composed of four components each are ABG, CBG, BCE and CED i.

4 in number.
Total number of triangles in the given figure = 14 + 11 + 4 = 29.
99 |A |100.C
D) oIl Rades
HH gaE 9Rar
Afer (S9=r) T “wdran”
EICHIGil e T
g T .
IR WW%
=
IR (STI) ﬁmm“ﬁsﬁw@q qo\sxﬁwmﬁaﬁ)
forgt T TS HTEEH
femedt s Oga 99 “faa”
B TS (STI) TS 90
T (3931) RS U
. ﬁ@ﬁmm(ﬁmm—mm) g BB
YOI (LY S<H] I ETH GUSHT): A9 et
i (1 TI%) : e
A it i S (Hfea wwe) e s
TS SR ST (91 |IE) Tt TIedt
mezmm@ﬁmm@ EENE RS
m(m) 1 SIS W9
g (Frars) . HAR TRHIE
T G (1 TIR) ECin]
eI, TR, W@mm(sﬁsmmﬁnm) gm‘lmshaairs
R (HETHTEE) R CHE RGeS |
YA ES i< Tt
FeiRaTen! gfer T AT
- | fase BA B fodt
i~ (FUSHT) iy fafg=ru 9w
YT (STAH) ST I
| efafsa (STmE) fawrg wdtew
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SN JRONTR AT : 9T (Set 18)

TRt R TR A R FEE S 2

A fEsmi@ | B. WU Aum C. o fay D. fovrawea
T 1 T9gE 11 e e firemd #rese s7ges W e RN | :
wEl | B

a. FmwRa 1. S e

b. e Frms 2. var fay '
c. WY : 3. FHUNER Vg

d. THRUE! HERE 4. AT RN
ST ' ‘ ’

A. al,b2c3 d4 B. a-2,b4,c-3,d-1

C. al,b4,c3,d2 ! D. a3,b2c1,d4
m@rmww“ﬂwmﬂmn

9. nfEa R T §-uRafea T eeiE A |

. EEC anf¥fe yepfeen &5fta @mea a1

3. ZAYE! € (EU) ) gared 3 gAel =rmed o | 4 '
A. Tad= - . B. IR3®3WE C WL D. 9331 EH

| TgHET Te@™ (UNICEF) 9! 99F /e S8 R S ?

A.  IfEm g A " B. oRCIFEH! A
C. W AfHA D. W IR
T IIE nﬁammmwmmm;

ki 2 W I

a. U afawiay 1. - 98%%. -

b. T SR Iy 2. 9]R0

‘c. | G gan e 3. -9%RY

d. " faromad 4. 9RR¥

A. a-1,b-2,c-3,d4 B. a-2,b-1,c4,d-3
C. a4,b3,c2,d-1 D aB b4 Er, a0
am‘tmwvﬂaifmﬂzﬂaﬂm

9. AU - forsua ot Boe Wiy B 996R A1 W o |

. AU - = S St iy g qe’R W s e

3 A9 - forea ofi erneredt W w9 959% A1 s frd

A. TIFE : B. 9133%, R afew
C 9338 338 - N YA
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11.

12.
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' mmmaommmmwmmm 20 Fralfx a%ﬁaawﬁ

I T e S g IR TR e ?

- If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The

actual distance travelled by him is:

A.  50km : B. 56km .. C. 70km - D. - 80km

TR T R 9R%9RR ofE ﬂw-:m TR fa&sfr tma?t ot . (femm st
T Rz s

The bar graph given below shows the foreign exchange reserves of a country (in million US
$) from 1991 - 1992 to 1998 - 1999. :

Foreign Exchange Reserves Of a Country. (in million US $)
6000 -

5040

5000
4000 -
3000 A
2000 +. "

1000 A

o -
N S S R o AT o

N 3 < & >
q qa o,q c,o: \9(’ qo,

ﬁ%shqgmfaaﬂ#ma&maﬁzw NTH TR FTI Hi4 52

The ratio of the number of years, in which the foreign exchange reserves are above the
average reserves, to those in which the reserves are below the average reserves is?
A 26 B. 34 SENEE ol T DIEY
92925 Fr R o W 19V A FRTMD 2

The foreign exchange reserves in 1997-98 was how many ‘times that in 1994-95 ?
A 07 By 1.2 ' C. 14 D. 15
TS T T ATl ¥ geT R I afsed gfg s afe s 2

For which year, the percent increase of foreign exchange reserves over the previous year, is
the highest? . .
A. '1992-93 B. 1993-94 C. 1994-95 D. 1996-97

93R%-R0 ﬁﬁﬁhwﬁﬁmmwmmm@mmmﬁ
S 2

The foreign exchange reserves in 1996-97 were approximately what percent of the average
foreign exchange reserves over the period under review? v

A. 95% ~ B. 110% C. 115% D.
9]R3-RY I FEHT 1R]9-%5 ! fodelt gzt wfswet Hfa waeaa afe & 2
What was the percentage increase in the foreign exchange reserves in 1997-98 over 1993-94?
A. 100 B. 150 ‘ C. 200 D. 620

125%
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13. SEITEYE Ilﬁamﬁﬁémmmmn@m ,

a. Iy siifge fasmes semar 1. Michael Farade
b. Tagas fua 2.  Sir Isaac Newton
" ¢.  Calculas i faspm - - 3. John Dalton

d. Sterilization YGfae! J2H T 4.  Louis Pasteur

HIETE: :

A. a3,b-1,c2,d4 B. al,b2 c3,d4

C. - a4,b-3;c1,d2 D. a2, b4,c3,d1
14 mmmmaamam ? :

A fmim B, uad C. ¥ D. WEIA
15, RTINS T K T GO g BT 2 ;

A. foaframa B. - UM *

. viwafua sty s D. ST

16. WEITEE I e v R Fieaie S ST e TR |

wEI R I

i, FfeEsE " a 78%

2. AEISEA ' : b 1%

3. = i c. 21%

Heee: , ; }

A. 1-b,2, 3-a B. 2-c,3-a,1-b C. 3-a,2-b,1-¢c ° D. 1-c;2-a,3-b
17. T <rnfeeed FgiE e 28710 | SO TREFS :

A.  FIH, 7 G HEET A T, e SR
B. U URNg, e

C = X SR, gyEeE

D. Haufae ufieg, gem-amEmsT

Question No. (18-22) based on the following passage:
There is modicum of truth in the assertion that "a working knowledge of ancient history is necessary'to
the intelligent interpretaion of current events”. But the sage who uttered these words of wisdom might
well have added something on the benefits of studying, particularly, the famous battles of history for the
lessons they contain for those of us who lead or aspire to leadership. Such a study will reveal certain
qualities and attributes which enabled the winners to win and certain deficiencies which caused the losers
to lose. And the student will see that the same patterns recurs consmtently, again and again, throughout
the centuries. .
18. A person who aspires to lead could learn from the history of battles

A. what led the previous leaders win a battle

B. . what made them lose a battle

C. the qualities and deficiencies of commanders.of these battles

D. the strategies that they have evolved in course of these battles



19.

20.

21.

22.

23.

25.

26."

In this context, ""intelligent interpretation of current event'' means
rational explanation of events

A.
B.
C.
D.

appropriate understanding of events

intellectual outlook on events

skilful interpretation of events

The expression '"'more than a modicum of truth" means

A.
C. more than a small amount of truth

some truth

'B.
D.

much truth
nothing but truth

According to the writer, a study of famous battles of history would
A. be beneficial to wise men \
provide food to modern leaders for reflection :
C. * be more useful than a general knowledge of ancient history
D. help us understand the art of modern warfare
A knowledge of history is necessary to interpret current problems because
A. they have roots in the past f
B. they can be contrasted with the past events

B.

C. they may be repetitions of past events

6

D. only then they can be put in a proper context

w1 TugE 1 e S fre Freae g sl THeR |

el : o

a. fuwga 1. fowEvamEr

b. HeAren givren 2. Uiem

c. onfemw 3. fiprify foard

d. g 4. Wifm wg

T ’

A. a-1,b-2,c3,d4 B. a-3,b4,c2dl1
a-2, b-3, c-4, d-1 D. a4,b3,c2 d1

fieg wi v ol g8 ane 7= P TfES 2

A = B. A& C.

A AT B S W= ia © ? )

A @ B, fomq Cc

W1 TR 11 fa= wier fred fieae 9@ s el i)

El P I

a. G faum 1. HF WA

b. TIRIASE 2. SuEEES FEEE

c. wFEr@M 3. =R

d ErE 4., TR

ﬂm: . : .

A. a2,b-1,c3,d4 B. al,b-2,c3,d4

C. a-1,b-3,c4,d-2 D.

a-2,b-1.c-4,d-3
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D. fifees

D. 9%
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28.

29.

30.

31.

32.
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TR B AT T TR T TR
9. TIRRR W @ fg st ﬂ@qﬁﬁaﬁm%ﬂ@ﬁwmwﬁmfwl
R Qe TR TIRA TR S SISO O TSUS 9 A ¥0 a7 Teeh! B |
3. g TS O & O g% et T9r 7S faois et farn
A, WS " B. 333,37 C. 933,37 D. 93,33 e
! HY HEATA T TG IW T TG |
. e Hifoen! YEE QAR Weh! I e e -
2. mmmmmﬁmqﬁa@mammmﬁ@mm
a1
3. TS O SRR U S o |
A) wafes B) Wi 0 (& wAfes - D) 3IFHIRAMH
From the given alternatives, choose the one which best expresses the given sentence in
Indirect speech.
"Are you alone, my son?" asked a soft voice close behind me.
A. A soft voice asked that what I was doing there alone.
B. A soft voice said to me are yo{:l alone son.
C. A soft voice from my back asked If I was alone.
D. A soft voice behind me asked If I was alone. ,
Pick out the best one which can complete incomplete stem correctly and  meaningfully
He is so lazy that he ...... : :
A. cannot depend on others for getting his work done
B: cannot delay the schedule of completing the work
C. can seldom complete his work on time
D. dislike to postpone the work that he undertakes to do
In question below a sentenceé broken into five parts. Join these parts to make a meaningful
sentence. The correct order of parts is the answer.
1. bag : 2. you 3. seen 4. have 5.My
A. 51432 - B. 43512 - C. 42351 : D. 42153
e 1 TWgE 11 = siver e #reae 9dt 3w oHiie e | '
TRl e : : R I
1. #hwE : a. GO
2. HSI9REE US b. SUES GEH
3. 35 WS SIS c. HTER ufved
4., wESATE d. el St
5. yEvSTE 9d d. THE=R AfsR
ST

A. 1-c,2-d, 3-b,4-a 5-¢ 1-d, 2-c, 3-¢, 4-b, 5-a
C. 1-d, 2-c, 3-b, 4-¢, 5-a " D.  1-d,2-b,3-e, 4-c, 5-a

w
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3s.

36

37.

.38.

39.

A. mmﬂammﬁmmmwﬁmmw@# e o ;A
B. SAUEH e § AR T T “mﬁrﬁtmn

A) SAEREErS 7, e giew "B) S, B SR g

C) THRETE, HRI SHT D) SHErEES R, SHHE 9w

Y- ST TRAT AEEA T G 9 T T R09Y mmﬂﬁ@rmmmw

(EPG) &1 101 aoTeh! Yt faaR el

A. U YRA YIS G EPG 1 ATt A Y FEgT o g1
B. AU ¥Rd Y9S g EPG 1 WRawH! Wash Wafde i g
C. Epcﬁmm?owga%mmai"{iﬁfa@n

D. =i ¥ w1 s

e (58 O S 5 SN S ?

" Which one will replace the questlon mark ?

A 18 ; 6
mmw@mqﬁmw? :
Which one will replace the question mark ?
' R, @
1 2 4
8 | ilis
36 | 2 | o1
A. - 25 Q. B .59 C. 48 ST T3
- Choose the word which is different from the rest.
A.. Chigk@p < - B.  Snake C. Swan - D. Crocodile

ST T T S TS 2

A, Touw Afearn i Weed gI98 W AR B |

B. - foiment stume 9RsE g WA AR R s

(o4 mz%@m@ﬁmﬁwmmﬁwﬁn
D. & AYHR RG9S 9 AR R |

ETell SRAT SUGTH UsSh! S e |



40.

41.

42.

43.

45.

46.

47.
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A, TTSSIfoR SREE T imieE B. wfefer vanferet T Henfier -
C. SR IS 3RAT . D. s TIREa
wltmllﬁaa‘mﬁaﬁ \mmwﬁz cocU
. WRI . S R I
a.  Willis Carrier 1. Air Condition
b. Robert Ranges Smith :7 2. . CFC Gas-~ .
c. Thomas Mij 3. BITE gvEeh! FgYR
d. JH. Feriar . 4. Iy g
a.  a3,b4,c2,d1 5 b a3,b4,c-1,d-2,
c. al,b2,c3, d4 ' 0. 22b3,c4d1
If negotiations are to prove .xhltf al, there must not-only be smuenty on each side, but there
must also be ............ in the sincerity of £l ¢ olher side. -
A. faith. B. belief C. substance D. certainty

Pick out the mo:  effective word frowm he given words to fill in the blank to make the
sentence meanir ;fully complete.

T hate sitting ...... him as he always smells of gariu .

A. besidss . B. " aiong ¢, -at .D.  beside

Some r:giens of our country still rem i1 vocs to the average man. ; _
A.  inaccessible B. impossible C. impermeable D. impenetrable -

Pick out the most effective word from the glven words to fill in the blank to make the

- sentence meaningfully complete.

 { e that Prashant will not be selected for the post _
A, feels B. looks C. believes D. seems

T TR SAE S Hee e s T e aﬁ%@mﬂmmﬁaﬁm

T BFRR ¢

. - W 9. ®HH

W, < - . wd

. s 3. @ ;
o e Y. [T

A H-,T-3T-¥, 9 B. ¥, T3 7-3,%9

C. %98 3,7T-Y¥ 93 D W9, W T R Y

FEATS HIHHAD! Hcrs AFaR T g s h a2 .

A ﬁwﬁwmwm%ﬁmmq‘wmxwmﬁﬁmw
' B. o S 3faa W&

C. =R R foehm =is drere frersg

D. T Bree TREm qo s

TEAHT B TRIRrY X W I BAE TR

9. ol yoneff e e O T e | ‘
R. . e e forge! T YR YIWTE ST TRl HErdlE 9a T |

AY QP N ey P S B St S A WO ., 3.0 it o T AR
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.49.

50. -

52.

TR 1 Ve 11 fore o foreré wveere v SR St TR

TRl

a. HITI
b.  FAMIT
c. BRI
d. e g

A) 21,b3,¢2,d4
C) a3,b4,c2 d1

El

1. A=

2. wdEA

3. TEEdl
4. grednE

B) a-3,b-2,c-4,d-1
D) a4, b-3,c¢-2,d-1

WEITEE I ﬁammmu@mmmn

hif (3

a. BTN

b. UMW

c. feg fodem x
d. TR

" A) a2 b, c4 d3
C) a-1,b-2,c-3,d4 -

P ol B

TE I

T

e

TEs

B) a-2,b-3,c-4,d-1
D) a-1,b-3,¢-2,d4

WEITEGE 11 e sirey fires Freee wdl Sose ERR)

EI -
a. fam
b. TEIEIR
€ EGED
d. TR

A) a3, b—4, c-2,d-1
C) a3,b-2 ¢1,d-3

Wl
a  wEm
b. 3w
c. e smft
d. 9 TEfE

A) a3,b4,c2,d1

C) a3,b-2,c1,¢4

R I

1. Y% HERS
2. Tmas

4 TEEE

B) a4,b-3,¢-2,d-1
D) a4,b-1,¢-2 d-3

mnmnﬁamﬁaﬁmaﬁmmmt

wE 11

. 0%
2. R%

3. %%

4. R

B) a2, b-1,c-4,d-3
D)  a-2,b-3,c-1,d-4

TEITEE uﬁamﬁa@mwmﬁz@m

qE1

a) B
b) EEE
c) wFHHE
d) I

w11
¥ 9

) A
- e



53.

54.

55.
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.m: ) .
A. a¥FbIcddam . B, -, b3 c-3M, A3
C. a3 b-#, cFd-a D. a%bs, A, d-3T
- A S ) G s

C %) el A€ geM STy feRie 7

W) SR R Ry i w6 |
m- q@aﬁa@a&m@mmﬁmuﬁﬁzx:mw:
W) weRe e fagra sfanes T o sehe R E

A wfF B. wAAF C w1@dw D wiE¥WHE
Glove : Hand in the same way ? ) . : & il
A. Neck : Collar B. Tie: Shirt C. Socks : Feet D. Coat : Pocket

T 1 W Faere g, T T g e SHeS ?

Which of the following diagrams indicates the best relation between Earth, Sea and Sun?

@O‘ B OOQ C. QD D: '.

AT foe T T 4 T S 79 2

Select a suitablé figure from the Answer Figures that would replace the quéstion
mark (?).

Prqb_lem Figures: Answer Fi igures.' : )
@®@? GG e
(A (B» D) (hH ) (3) (4) (5)
A1 B 2 ' C. 3 D. 4

T fFAwmgEas?

Find out the alternative figure which contains figure (X) as its part.

(X). @ (n (2) (3) (4

A | B. 2 Cc. .3 DS %’

57 (X) W1 U1 SHIREARY, R, 3 91 ¥ F1 Fsea W oy are7 fees

Find out which of the figures (1). (2), (3) and t4) can be formed from the pieces given in

figure (X).
NN
BDE

= et ) ‘
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60.
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62.
63.

64.

65.

66.

67.
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mmtmﬁmwﬁ@WWWMWﬁznﬁmu
W(A):ﬁqam'wmawm,WmmmﬁmeNAﬁngerpﬁmmg
T foeaaf aeE v 51 :

HRO (R): AIHT TEfhehraan T 3, g%, fod onfs w1 STedivge DNA Analysis 51 @7 wai@
iy s _

A. T (A) THRV (R) 3 T B T FRO(R) S8 A 1 5 = @ |

B. ¥E (A) THRW (R) 39 5% 57 T FRO (R) 9 (A) &I o sqrem dem 1 -

C. & (A) RF SRR R) T 51

D. ¥E (A) 76 8 W SR (R) T 3|

Halophyte % S eafigee! T & 2 : : :

A, I R S g " B. T AU W R AR g

C. TS eI FAET Y Mofeeae 9 MrE T D, TR AT AT HH WP ST T
AT A STe TRETOr W o T TG TTREH! A | ST Gy STee..... E I
=1 - . . :

A, R0%0, THFHST

‘B. 0%, O A -HRE T}

C.  R0%%, 99 T Y- ER&TV Hollersah! 9fag

D.  Rots, Tftga fiegest qen g e faumTeh! werfeers
qfEet Astronomical Telescope ! foaior 74 &sfers =61 g1?

A, TfaferEy B. anfsfafes C. WIAGEHA D. T IR
In Bush, Saddam was up ........... more than his match. L . ;
A. for B. into C. against . -D. . to

Pick out the most effective word from the given words to fill in the blank to make the

. séntence meaningfully complete.

Thaven't seen you ...... a week.
A. 'within B. since : C. for D. from

In the following questions four alternatives are given for the phrase italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of phrase.

The cricket match proved to be a big draw. .

A. akeen contest - : B. ahuge attraction

C. alovely spectacle D." agame without any result

In the following questions choose the word which is the exact OPPOSITE of the given words.
RELINQUISH '

A. Abdicate B. Rénouncg: C. Possess - D. Deny

T g 7} A S T S 2 e

A. The Universal is a nutshell ..... =% gfrg
B. Algebra ... spU=Td ’
-C.:: Principia zv...o: T AT geA
D. The Verification of Animals and Plants under Domestication........ ISLic



68. -

69.

70.

71.

T2

73.

74.
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T TN ST UTH, T, SFER Wi (! ST o T R g 2

A.  Anatomy B.  Morpheiogy 'C. Cytology D. Physiology
| e I R W T e w«‘.ﬁwqmmwmmmm
FHiee! 3T TEHR I0H( § ?
A TR0} . . -B. H300¥ C. Tijoog D. ¥R005
Prfm R e gD 2 ,
A. Glossitis B. Pellagra - C.  Rickets -+ D.. Scurvy

O T A TGS MG TRERS! TeanT et 8 2 ;

A. @ ofvEw reAre e-AnEerE Eee B, fafu. wieven @ fagm wsm
C. =au-fg gew D. fen wedl yfawsm

AT A W TR SR AR Gfee®) Fa fos T FA TR B 2

B. HIfhEa, =@, WifeaH, AT, H
C. IR, STETRRH, i, mieae, e
D. sfide, wfeam, e, mﬁzm Rt

WWWFWXYZ@IWW@@ZWQ?KﬁWﬁ?{WWW
amaa‘é‘ran

* Three different positions X, Y and Z of a dice are shown in the figures given below. Which

numbers are }ndden behind the numbers 6 and 5 in the position Z?

B RN

fk]

A. land4 B. land3 C. 4an¢3 D. land2
© T T3 T AGETEH] WG &, ST S T R S0 AR T TR Hiet Wohiel TE 1S Wb 2

In how many ways can a group of 5 men and 2 women be made out of a total of 7 men and 3
women?

FOR - B. 90 Ci126 vt D. 45
Ferent FepTeware it fot o eege ;.

Choose the figure which is different from the rest.

OB BISV|

(1) 2) 3) . @ (5)




76.

78.
79.

80,

81.
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Fereh! ferre Bigst T it S o SR -

Count the number of triangles andrsqlialfes in the given figure.
pANN
N
A. 21 triangles, 7 squares ' B. 18 tn'anales", 8 squares
C. 20 triangles, 8 squares ‘D. 22 triangles, 7 squares

T FRATE (98 WO WA FA T &9, ﬁmmwmmm?

Select a suitable figure from the Answer Figures that would replace the questlon mark (?).

Problem Figures: Answer Figures: >
s QOln 2f= s o uif #id wia wje o
0.} & -9 o | o | o | o | o
4 =0 o o " ¢ 214 2]t 2+ S|t .1
@ B ©O© O M @ G @ <
Aod e T C .3 ¢ D. 4

e W ST SRR S T YRGS TG S T W Fee W) T SRR WA 2
A. 030 IR G B. 098 YRR 3 C. RoqePE=RIG  D. 0% fed=r 3
ﬁmg»zaa 095 | SR Hia S AT Tt WTeht o 2 p

A. 90 “B. N C. R D. W

200y ARG 13 T FHRAREH SR TREH 3 TTwtedd figa wata sufy F wwle TR,
00 T el Terame ST G Faraset e ?

CA. T B. YIT C. e S D. f#mtn;:

¥ Ty, T Fram wa e s g e g famde e g 2

At what time between 4 and 5 o'clock will the hands of a watch point in opposite directions?
A. 45 min. past4 , B. 40 min. past 4

4 ; 6
3 50ﬁmjn. past 4 . D. 54ﬁ'min. past 4

-9 fezua foreueensiae g fasere oo fgwn Ama U s 2

Select a suitable figure from the four aiternatives that would complete the figure matrix.

'
©

g

@O

@ © o>
| @O

p——
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83. u fesus fameaes Aelwea B fawead T Ree MR WS 2 ‘
Select a suitable figure from the four alternatives that'would complete the figure matrix. -

mELA

1

(1) (23 (3) &
A 1 R, 2 c.3 B

84. v fegsum faseuee neligeare g fareudt v@ Rgus Afesa 3o e 2 .

Select a suitable figure from the four alternatives that would compiete the figure matrix.
O\ D
Al]®
*J@) 2

ViealA
@) @y (3) (4 .

A B. 2 S I B 4
85. o (X) %1 T s sl A @ 2 ' :

Choose the correct mirror image of the given figure (X) from ..mongst the four alternatives.

(P | 9 | Ba) | &=

~2

|
B

X) m. @. -3 4)

. A 1 ' B2 i il D. 4
86. el eREEN '

T W, TR » - TR : G, T Y

¥) fova ven T 9 WYUS G

) fava difss wwata T 2. HAIReE

2 Feauied "fas g@mea 3. WH990

3 @ Aw s TE Y, TR5eeY



88.

89.

90.

91.
92.
93.

94.
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A Y, Im s B. &Y, M, RN

C. 31¥,3Mm, 3¢, D. M, IR, 7N, N
,mmmwwwmwﬁﬁaev

) uifREH, A9, e N AT, ST, e

3 Y, HfEH, AR %) A, s, TEmE
A, (30 T3 TR, (3) TE) TR B. - (37), (3M) () "erd, () W&
C. @NIE wE EMIE) ™ D. (3 (3) TTe@ (3M T(P) A

Pick up the one which is most nearly the same in meaning as the word printer in bold, Italic
and can replaces it without altering the meaning of the sentence. :

She has an insatiable love for music. ,
A. unsatisfiable B. unchanging C. irreconcilable D. unappeasable

In questions given below out of four alternatives, choose the one whlch can be subst futed for

the given sentence. )
A person who insists on something .................
A. Disciplinarian B. Stickler C. Instantaneous D. Boaster

D IB IR §I BACH S I &S ? TWh! I & TR FT SR ATva® §° ?

v

If D is the brother of B, how B is related to C? To answer this question which of the

statements is/are necessary? ¢ ! 2
1. DHBUCH RIS 2. BID et afet g

3. The son of D is the grandson of C. 4. Bisthesister of D..

A. Only]l : B. Only2

C. Either 1 or2 D. 1land2 both are requlred

Wﬁ%ﬂ@mﬁmwwml
.1,2,6,24,2,720
A. 100 B. 104 - C. 108 D. 120

_aeTen! Taspeues Tedene wdl faeeq o TR’ Sl 3o e

ba_cb_b_bab_

A. acbb B. bacc C. bcaa .+ D. cabb
eTaTEF T YU R SUT faeed S e 2

REASON : SFBTPO :: THINK : ? bl

A. SGHMJ B. UIIOL C. UHNKI D. UJKPM

TeTare T YO T GO S TN ISR ?

* Which one will replace the question mark?

4 51 6
2 3|7
1 g | 3

21 o8 ?.
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95.. TreRTH: - ‘
. AR SETEAT USR] ORI goll SRy TREeEE) FHi g WU B
W, 3% 96 fogn aiEsa i ¢ AR B
T mmwmﬁw%mam?nemexmﬂ@@l

o

A wrmmsSE OB SITEEGE C wiTaEfsE ¢ D, v fss
96.  'World Conscience' FHe 1T Y G8hT HE H SRR A 2

A, TR FOTEE : B. TR F&AvAa
C. 3wifeg Eha : D. meﬁmaﬁmm@n
97. In the following questions choose the word which is the exact OPPOSITE of the given words.
- EXPAND '
A. Convert B. Condense ‘C. Congest D. Conclude
98.  Neither his father nor his mother:...... -eees Alive. ;
gl Seis b. am c. are = d. . were

99, mmwmqmwmam
3,4, 10, 32, 136, 685, 4116

A 10 B. 32 C. 136 ~ D. 4116
100. 308 = TR Yool TEHREE T8 ﬂgﬁaﬁa/a ?
% 9. HeE faw T TIEwaEs - T TR Jure
A wH1Efes B. ®yafss . c @iufw D. §3 fos
Q.No | Answer | Explanation
| Key l :
1 B |2B-aB NI
7 A |Letthe actual distance travelled be x km.
: . X x+20
Ther. 16" 14 =
=> 14x = 10x + 200 : T ey
=>4x=200 '
= x =50 km. ;
-8 C Average foreign exchange reserves over the given period = 3480 million US $.The
country had reserves above 3480 million US $ during the years 1992-93, 1996-97 and
1997-98, i.e., for 3 years and below 3480 million US $ during the years 1991-92,
1993-94, 1994 95, 1995-56 and 1998-99 i.e., for 5 years.
- |Hence, required ratio =3 : 5.
< .D Required ratio = gggg =:1.5
10 - A |There is an increase in foreign exchange reserves during the years 1992 1993, 1994
i - 1995, 1996 - 1997, 1997 - 1998 as compared to previous year (as shown by bar-
graph). .
The percentage increase in reserves during these years compared to previous year are:
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For1992-1993=  CIE=2880) iy yng; g
For 1996 - 1997 = -‘5‘-*;’5'7:5-333 X 1=3333%

For 1996 - 1997 = (330 -0130) 5y _38.46%

3120

For 1997 - 1998 = {0280 X 1.=16.67%

Clearly, the percentage increase over previous year is higlxest for 1992 - 1993

1 D | Average foreign exchange reserves over the given pegiod .
, ' = (2640+372(5+3360+3120+4320+5040+3120)
‘million US $
=.3480 million US $.
Foreign exchange reserves in 1996 - 1997 = 4320 million US $.
. Required percentage = :::; % = 124.14% =2 125%.
12 A Foreign excharige reserves in 1997 - 1998 ='5040 million US §. -
Forexgn exchange reserves in 1993 - 1994 = 2520 million US $.
. Increase = (5040 - 2520) = 2520 US §.
. Percentage Increase = %g—g x 100% = 100%.
13 A |14.B [15.C |16.D-[17.B [18C [19A [20.C |21B |22.C [23.D
24. A 25. A |26. D [27.B [28.C |29D 30.C 31 € [32 €|33.A134.D
35 C | (12+18+30)/10=6 '
' (16.+ 24 +40)/10-= 8
Similarly, 45 + 18 4 27)110 9.
36 B [@+ (1)3 + (3) =
‘and: ’0) + (4) +,(3) =9}
‘Therefore, (4)° +(2)° + (1)* =73.
37 | A. |Allexcept Chicken can live in water. .
38 C |39, |40.D [41.A [42D [43A (44D [45.B [46.A|47.C [48.B
49, B [50; [51.B [52.A[53.A r
54 ¢ ‘As Glove is worn in Hands similarly Socks are worn on feet,
55 A Sea is a part of Earth while Sun is different from these two.
56 D ‘The number of arcs in the central element increases by one; the number of small
’ ellipses increases by one and these ellipses shift to the inner side of the central
element, .
LY C

g 4 R
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58

@]

59.A |60.B [61.A |62.A le3.c |6a.c 658 [66.Cc [67D [68.B

69.

70.C |71.A |72.D

73

From positions X and Y we-conclude that 1, 5, 6 and 3 lie adjacent to 4. Therefore, 2
must lie opposite 4. From positions Y and Z we conclude that 4, 3; 2 and 5 lie
adjacent to 6. Therefore, 1 must lie opposite 6 Thus, 2 lies opposite.4, 1 lies opposue
6 and consequently 5 lies opposite 3.

As analysed above, the number opposite 6 is 1 and the number opposite 5 is 3.
‘Therefore, the numbers hidden behind the numbers 6 and 5 in position Z (these are
the numbers opposne 5 and 6 respectively) are 1 and 3. -

74

6 =S
Required number of ways = (7C5 xC)=(Cx°C) = ( 1% 3) 63

75

All other ﬁgures are divided into equal parts.

i

76

| The figure may be labelled as shown.

- number.

e D

A B, ,E

MET —
RS
LK ] I H

Tnanyes ‘The simplest triangles are BPN, PNE, _ABM, EFG, “MLK, GHI, QRO

RSC. ZT0 and QTO i.e. 10 in number.

The triangles composed of two components each are BPE, TQR, QRS, RST and STQ
i.e. 5 in number.

The triangles composed of three components each are MPO and GPO ie. 2 i
"number.

The triangles composed of six components each are LPJ, HPJ and MPG i.e. 3 in

There is only one tnangle LPH composed of twelve components.

Total number of triangles in the figure = 10 +5 -2 43 + 1 = 21.

Squares : : . -
The squares composed of two components each are KJOM and JI'GQ i.2. 2 in number.

The squares composed of three components each are ANOM NFGO and CDEB i.e.3
in number.

There is only one square i.e. QRST composed of four components.
There is only one square i.e. AFIK composed of ten components.
 Total number of squares in the figure=2+3+ 1 +1=7,

77

o ~——pei y =

The elements move in the sequence ‘N The 'S'-shaped element gets laterally
inverted; the rectangle rotates through 90°, the '=' symbol rotates through 90°; the
arrow gets vertically inverted and the circle gets shaded.

78

79.C |80.B
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81

D At4 o"clr*ck the-hands of the wetch are 20 min. spaces apait.
To be in opposite directions, they must be 30 min. spaces apart.
. Minute hand will have to gain 50 min. spaces.
55 min. spaces are gained in 60 min. :
50 min. spaces are gained in @“2 X 50) min or 541%' min.
.. Required time =54 6 min. past 4.
82 B The third figure in each row comprises of parts which are not common to the first two
figures. [ B :

“83 ‘C - | The third figure in each row comprises of parts which are not common to the first two
figures. . .

84 D In each row, there are three tvpes of outer elements (circle, triangle and ‘'square), three
types of inner elements (circle, triangle and <juare) and three types of shaun% in the
inner elements (black, white and lines):

85 C Flip the given image Horizontally to get mirror image. <
86 B 87D|88D ISQB ]
.90 D Given: D is the brother of B.
From statement 1, we can detect that D is son of € (son of Dis the orandeon of C)
From statement 2, we can detect that B is 'Female' (sister of D).
Therefore, B is daughter of C. ‘
91 D The patternis x 1, X 2, X 3, x 4,..... ;
So, missing term = 24 x 5 = 120. |
92, B /babc. Thus, the pattern 'babc’ is repeated.
93] B Sk :
94 | A @+ +0)=2]
and (5)° + (3)* + (8)" =98
: Therefore (6)° + (7)" + (3)" = 94.
51 o J

96.B 978 [98.A [99B [100.B |





